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I Year (T.D.C.) Science Examination, 2016

STATISTICS
(Descriptive Statistics)
Paper—1

Time Allowed : Three Hours

Maximum Marks : 50

PART-A (Tus-HA ) [Marks : 10

Answer all que‘stions (50 words each).

y equal marks.
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PART-B (TUS-9) | [Marks : 25

stions (250 words each), selecting one

Ansvirer‘ five que
y equal marks.

from each Unit. All questions cart
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PART-C ( Ere-w) [Marks : 15
Answer any two questions (500 words each).

Al questions carry equal marks.
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A (1) Define Classiﬁcation.
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(iv) Define Percentile.
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(v) What is Coefficient of Variation 2
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(v1) Define LorenZz curve.
e o SISl

moments in terms

(vii) Express second order central

of raw moments

Wm%ww@ﬁwmm
wa%mﬁwaaaﬁﬁm'

(v111) Deﬁne Kurtosis.
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(ix) What is meant by Association of two attrlbutes ?
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(x) What 1s Coefﬁment of Colligation ?
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2. Define Tabulation. Describe different parts of a Table
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3.  Explain the different types of diagrams generally

used to present Statistical data.
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10.

What are the requisites (essentials) of an Ideg]
measures of Dispersion ?
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What do you undérstand by Kurtosis 9 Explain itg
types and method of studying them.
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12.
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What is meant by Consistency of Data ? How will
you examine the consistency of data classified

according to different attributes ? Tllustrate with -
suitable example.
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PART-C
(‘@"U‘E’,‘—E)
(a) From the following data draw a histogram,

frequency polygon and frequency curve and locate
the value of mode :

Wages . No. of Workers
(Rs.) & 7 |
0-10 : 8

10-20 . 18

20-30 - 23

3040 37

40-50 : 47

5060 26

60-70 16

- 70-80 3
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0-10 8
1020 18
20-30 23
30-40 | 87
40-50 47
5060 o 26
60-70 16
70-80 3

- (b) Write in detail about the merits and demerits

of arithmetic mean, geometric mean and harmonic

13. (a) Discuss the relative merits of range, standard

dispersion.
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(b) For a group of 50 male workers, the mean and
standard deviation for wages are Rs.. 63 and
Rs. 9 respectively. For a group of 40 female
workers the mean and variance are Rs. b4 and

Rs. 36 respectively. Find the variance and

coefficient of variation of all workers.
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14. (a) Define Factorial moments. How will you

express factorial moments in terms of raw

moments ?
%H T STEUT SRl = T sTEEn | Eoxs
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(b) For a distribution, the mean is 10, standard

deviation is 4, /8, and B, are 1 and 4
respectively. Obtain the first four moments about

the origin ie. zero.
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15. (a) From the following data determine whether the
attributes A and B are independent or positively

associated or negatively associated :
(i) N =10000 (A) = 4500 (B) = 6000 (AB) = 3150
(i) (A) = 150 (o) = 250 (B) =200 (ap) = 125
7 owsl o W@ #ife 5 A ok B =y 2
T I AR A ROEF -G S
(i) N = 10000 (A) = 4500 (B) = 6000 (AB) = 3150
(i) (A) = 150 (@) =250 (B) = 200 (op) = 125

(b) State, giving reasons whether the following data

are consistent or not :
(i) N = 100 (A) = 76 (B) = 82 (AB) = 54
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(ii) N = 100 (A) = 45 (B) = 55 (C) = 50 (AB) =15
(BC) = 25 (AC) = 20 (ABC) = 12.

Waﬁﬁmﬁﬁﬁgﬁaﬁﬁm%m
EF
() N = 100 (A) = 76 (B) = 82 (AB) = 54

(i) N = 100 (A) = 45 (B) = 55 (C) = 50 (AB) = 15
(BC) = 25 (AC) = 20 (ABC) = 12.
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